Total No. of Printed Pages : 16

www.onlineBU.com

Total No. of Questions : 11

MT-15
B.Com. V%" Semester Examination, 2015
- Accounting
Cost Acéountilng
Time : 3 Hours] [Maitimum Marks : 85
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Note :- Attempt all questions.
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SECTION - 'A'
Objective Type Questions
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Choose the qorrect answer :
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Cost Accounting is an eé-sential tool of :
(a) Managemeﬁt Accounting
) Cost |
(¢} Management
(d) Accounting
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Cost Accounting provides all the information givne
below except :
(a) Tender Price (b) Cash forecasts

(c) - Production (d) Inventory value
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Stock card is known as :
(a) '-Purchase card

(b) Bill '

(¢) Bin Card

(d) Bill of material
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Rowan Premium plan is an improvement over :

. (a) Taylor's plan

(b) Emerson's method
(¢) BonusPlan

(d) Halsey Premium Plan

P.T.O.

(v)

(i)

@) - MT-15
b G I P %Wﬁ‘ﬁww%{,
(%) W aa | -
(@) ommE A
@) e
%) SUgT W
Prime cost is also known as ............. ‘

(a) Direct Cost
(b) Indirect Cost _
() First Cost
@ All ofabove
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Factory overhead are recovered as a percentage of
(A) Direct material - |

(B) Direct Wages

(C) - Factory.
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The item that does not appear in the contract Account :

(A) Work cerfified

(B) Work uncerfified

(C) Cash received |

(D) Contract price
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Loss on incomplete contract is transferred to :
(A) CostAccount . .

(B) Work in progress

{C) Costprofit and Loss ﬁi-.c_coum

(D) Profit and Loss Account
& - P.T.0.
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Operatmg costmg methad is not apphcable in:

(A) Prmtmg Press

A (B) Cinema I-Iquse

(C) Hotel

(D). Nursmg home
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‘Normal wastage grow dueto thlS reason !

(A) Leakeage
(B) Shrinkage
(C) Breakage -
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Product costs ﬁhder— margiﬁal costing include :
(A) Prime cost and fixed overhead

(B} o (B) Only Prime Cost
_ {C} Qﬂf‘

| sty : I {C) Onl_y fixed overhead
(IJ) Transpc}rt services - " (D) None of these
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Whieh csf the: feﬂowmg items are mch:lde:d in cost C@nmbutlon ma 5111 is aiso knwon as -

(A) Gross Profit
| (A) Dividend paid (B) Interest on debenture (B) Margmal Income

(C) Casusal income (D) None of these
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(C). Net Income
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Expense Audit plans include :
(A) Audit of labour
(B) Audit of overhead
(C) Audit of Raw material
(D) All of above
- EwE- ,‘ﬁ’ |
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Short Answer Type Questions

2. m%&maﬁtaﬁﬂﬂmwﬁi

- Explain the conce_pt of Cost Accounting.
HEI/OR
e T S R Ry & St a3 wied awEE |
Explain FIFO method gwmg smtablc example.
. AT WA @ aw?i B TR

Dlscuss the meamng and ments of cost sheet.
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What is Machine Houre Rate ? Explain its ufitlity.

Differentiate between work certified and work uncertified.
FGGVOR ©

oR=Te AR A AR AR T gE gen IR ¥ ?

Define operating coﬁt ‘What are: the mam objects of‘

opﬁratmg cost ?

Wby is it II&CE:SSBW to reconcile the cost and financial ac-
@bunts 7 ‘
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. Explain the features and merits of marginal costing.
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Explain the application (uses) of Break Even Analysis.

www.onlineBU.com




(1.1) www.onlineBU. camMT-1 °
U - ‘q

SECTION - 'C'
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Long Answer Type Questions
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Define Costing and state its nature and importance.

HTA/OR

MHWW@WW@T%WWHW
S, sy e O @ e | R S -

Ix5=45

Prepare a store Ledger Account showing the issue of ma-

teriai on 'Last in First Out (LIFO) method on the basis of

following information :-
Receipt ikt Issue T
Date  Quantity | Rate Date Quantity
- fafy o | fafy HEAT
3~1-2014 | 2000kg | 100 | 4-1-2014 | 500k
5-1-2014 | 3000kg | 140 | 7-1-2014 | 2000kg
10-1-2014 | 2000kg | 150 [ 15-1-2014 | 3000kg
20-1-2014 | 3000kg | 180 | 25-1-2014 | 2500kg |
" | PT.0.
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A factory produced 100 units of produc‘ts X and "Y'. The

cost of production was -

o e y

| T %
cw# @ (Direct material) 28,000 20,000
yeet qergdl (Direct wages) 16;600 10,000
s @ (Direct material) 28,000 20,000

FIEE IR 13,000 5o B e B I 7360 Fo
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Factory on cost was ¥13,000 and oﬂi(':e on cost was
7 7,360. I a profit of 25% on sales‘is to be reahsed Cal- |
culate selling price of each artlcle
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Discuss the various methods of alrlbclatirig' the: works
overheads charges in- short Gwe the re]atwe ments and
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3.00,000 Bo & I W Frfifas e garr -
A firm of contractor began to trade on 1% Aprii, 2014. The

following was the expenditure on the contract for
%3,00,000 :-

X
(arft} Materials 52,000
(=3192) Plant 15,000
LR (Wages) 80,000
34 &g (Other expenses) 5000

3197 2015 0% SRR w1 B 80% B e § 1,28,000 5o
T QI A 3311 3 T B e g W T & 3000 So
P AT F1 W€ T 25000 B 6l @ S Gl |l 131 9
2015 3 2000 To TR F WT & 27 der Rar| SwE
4 @ arr 1000 $o & 3l 2300 o of Avw i arE ¥
@  EY @
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Cash recieved on account tor31% March 2015 &mﬁunted
to ¥1,28,000 being 80% of the work gertaﬁed of thﬁ,plaﬂt';.
and materials charged to the cont:ract Z*Plant whwh m&t |
<3000 and material which cost ?25{}0 Wterre lost. iﬁﬁi‘“ |
March 2015 plant which cost 22000 was J:eturned m stares :
The cast of work done but uncertlﬁed was ? 1000 aﬁd ma- :

terials costing ¥2,300 were in hand on site Charggs__lﬁ%'
depreciation on plant reserve % profit rﬁcewed :lmd..ls:re—
pare a contract Account from the above part:tcuia:‘s |
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Explam the meaning and charactenlstlcs of opera,tlg-g co_st— |

ing. How is the unit of cost determined in case of trans- -

| port costing.
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. =8 A B
53 A (Material used) 6,000 17,20
ool (Wages) 30,000 10,000
TR WA ST | 40 50
(Cost of r&ateﬂal_perton) E -' -
Frafor 2 . 8000 . 4000
(Manufac.ttiring expenses)

i1.

%(Month)
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In a factory the output passes theough 'A’ and 'B' processes.

_In both processes 4% of the total weight put in lost and
8% is scrap which realises from processAand B #10and 20 -

per ton respectwely The following detalls are available :-

RIfr =@ e (Prepare Process Account) -
W%o%m@mﬁmaﬁmwmm%maﬁ%
Wfama%'ﬁﬂrmﬁwmﬁ% =

X Ltd. Produces one standard type of article. The results

during first three months of the year are as follows :-

'ﬁ‘ﬁff(]anuary) ‘F{Eﬂ(February) AT (March)

JeneH (Output) 100 - 150 200

P.T.0.
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Prime cost ¥8 per unit

 qRadAd SEEa

Variable overheads
2 o Uid S?{'?Ii
%2 per unit

Tt auitera 36,00060 nfvad

Fixed overheads ?36 ﬁﬁ per annum _
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Prepare g cost statement orf‘“ishe basis of margrnal costmg
: Wf@R .
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Eﬂeﬂne cost audit. D1scuss its ob_lects anﬂ advantages.
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